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JIE iz K £ ouT IN GR HDGP NET =
B |BHE ThETF 42 50 92 32.0 60.0
#E EAK BF 46 54 100 31.0 69.0
3 XE EA 39 42 81 10.0 71.0
4 iR fE 4 42 83 10.0 73.0
5 €Nl & 42 36 78 3.0 75.0
6 Hig = 39 43 82 7.0 75.0
i % EA 44 45 89 14.0 75.0
8 #H EE 45 48 93 16.0 77.0
9 AaE —E 38 46 84 6.0 78.0
10 |BRIR X 42 48 90 12.0 78.0
1M1 |\TH &I 52 b5 107 29.0 78.0
12 |fF&F #E 42 47 89 10.0 79.0
13 | T Bz 42 47 89 10.0 79.0
14 |LE =HE 48 42 90 11.0 79.0
15 |#X RA 59 56 115 36.0 79.0
16 |HF MREH 45 43 88 7.0 81.0
17 |EH RF 47 48 95 14.0 81.0
18 |TH &3 40 48 88 5.0 83.0
19 |All EZ 47 46 93 10.0 83.0
20 |chiEl 1A 46 52 98 15.0 83.0
21 & = 42 48 90 6.0 84.0
22 |\Erih FHEA 47 43 90 5.0 85.0
23 |lUE £8 54 52 106 21.0 85.0
24 |3kE i 45 42 87 1.0 86.0
25 |{EH HZ 47 52 99 13.0 86.0
26 |FTA == 45 53 98 10.0 88.0
27 |®RE fEX 51 51 102 14.0 88.0
28 |EXx EBE 48 50 98 9.0 89.0
29 |AIE X 44 51 95 5.0 90.0
30 |Hf B= 45 55 100 10.0 90.0
31 R XE 51 51 102 10.0 92.0
32 |wElR E= 50 54 104 11.0 93.0
B ER RE 51 51 102 8.0 94.0
34 kFH BF 54 " 125 28.0 97.0
3B |EE HEH 58 52 110 10.0 100.0
6 |R #F 58 59 117 10.0 107.0
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E £z K £ ouT IN GR HDCP NET =3
B HFR #&x 47 45 92 24.0 68.0
#E IE & 46 51 97 26.0 71.0
3 (1T m 45 50 95 20.0 75.0
4 |XE AR 42 44 86 10.0 76.0
5 WA K 40 47 87 6.0 81.0
6 WA [E 49 58 107 26.0 81.0
i g Flz 42 40 82 0.0 82.0
8 |mHA %t 47 52 99 16.0 83.0
9 BE OEF 51 58 109 24.0 85.0
10 |J&EH H£E 55 55 110 25.0 85.0
11 | KE H=E 45 48 93 7.0 86.0
12 X XF 51 52 103 17.0 86.0
13 |FEE 8t 49 51 100 13.0 87.0
14 |5 B— 47 47 94 4.0 90.0
15 | KA #Ht 48 54 102 9.0 93.0
16 |4t fH— 54 62 116 21.0 95.0
17 |FEEg =5 59 62 121 25.0 96.0
18 A% Z8 54 58 112 12.0 | 100.0
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B+ FE 54 52 106
M HFEX 52 59 111
HA IEAT 53 62 115
GUEST |finH MEXE 52 61 113
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